©

12X ¢23.00 THRU

INPUT SPEED SENSOR PORT
5/8-18UNF-2B TH'D. @
TARGET WHEEL 64 TEETH

M22x1.5-6H THRU

/ PUSHER HOLES

®280.00 H.C.

- REF.

\

~(

'~ (3400 —— =
B174.988+0.012
— i PILOT
- 460.00 —
()]
<
Ll
T - 437.0
© =
—
o)
m o
NQO © o
© - S
o
Y Y ¢
? | | b
N\ Vd
- \ % T
@
S |
N \ T

- 174.00 = —

—~——— 200.00 ——— =

~——»=—— 145.00

O

MAIN PRESSURE PORT

M14x1.5 METRIC PORT
CONFORMS TO ISO 6149
TIGHTENING TORQUE 20 + 2 Nm

NOTES:
A. PROPORTIONAL CONTROL VALVE OPERATION
1. WARNING DO NOT CONNECT VALVE COIL DIRECTLY
TO BATTERY/POWER SUPPLY VOLTAGE.
2. OPERATION TO BE PERFORMED WITH ONLY TWIN DISC
CONTROL SYSTEMS OR MODULES.

B. MANUAL DIRECTIONAL CONTROL VALVE OPERATION
1. WITH MANUAL DIRECTIONAL CONTROL VALVE IN CENTERED
POSITION, PUSH TO ENGAGE SECONDARY CLUTCH.
2. WITH MANUAL DIRECTIONAL CONTROL VALVE IN CENTERED
POSITION, PULL TO ENGAGE PRIMARY CLUTCH.
M12x1.5 METRIC PORT C
CONFORMS TO ISO 6149 .
TIGHTENING TORQUE 16 + 1.5 Nm

MANUAL DIRECTIONAL CONTROL VALVE MODE SWITCH

1. SWITCH IS NORMALLY CLOSED WHEN MANUAL DIRECTIONAL
CONTROL VALVE IS IN THE CENTERED POSITION AND
OPEN WHEN LEVER IS ACTUATED FROM CENTERED POSITION.

2. CURRENT =20 AMP MAX.

3. FOR WIRING SCHEMATIC, REFER TO CONTROL MODULE DRAWING.

PRIMARY CLUTCH (FIRST)
PRESSURE PORT

APPLICABLE MODELS:
- MGX-61500SC-HR PER ASSEMBLY 1023611
- MGX-62000SC-HR PER ASSEMBLY 1026776

1N
/)

SECTION A-A

VIEWING WINDOWS—E

877.00

TEMPERATURE PORT
M27x2.0 METRIC PORT
CONFORMS TO I1SO 6149
AFTER HEAT EXCHANGER)

SEE NOTE "C"

.

o O

o O

SECONDARY CLUTCH (SECOND)
PRESSURE PORT
M14x1.5 METRIC PORT

CONFORMS TO ISO 6149
TIGHTENING TORQUE 20 + 2 Nm

PRIMARY CLUTCH (SECOND)
PRESSURE PORT
M14x1.5 METRIC PORT

CONFORMS TO ISO 6149

TIGHTENING TORQUE 20 + 2 Nm

g

§
M %
| | | __Hli

O

( /
TIGHTENING TORQUE 75 + 7 Nm

O
PSPy | %

MAIN PRESSURE PORT
M12x1.5 METRIC PORT

GAUGE LINE HERE.
TIGHTENING TORQUE 16 +

CONFORMS TO ISO 6149 @
CONNECT OIL PRESSURE

1.5 Nm

; ’#E —\ r 1)
% [— = — — —
%J—V’V’L—LTTTT“H [T NI TT N
OO @ 7 /ﬁ‘%ﬁ@m
O
. . ) 0O e
il o H | o Jum | 1 | INPUT GROUP REFERENCE PLANE
i © 6X ©35.0 THRU
o G%/ 3 EACH SIDE
q | | O ? | PTO ADAPTER MOUNTING FACE
I I
[ﬁ:(_ € ‘ o) © OIL OUT TO HEAT EXCHANGER
O |
° e ° | SAE 37° STR THD FLARED FITTING
O ) %/ 17/8-12 UN-2B THD (SAE J514)
© o © _3(
@) D
| | o - 0 (O wmameaamonusces \O O O @ T
~ @‘ @\ INTERNAL Rer) TWIN DISC
. L p ‘\:/—/‘) z SPLINE DATA | ENGR.STD. 5435
! e | — - {} »101.65+0.025 ROOT FLAT PRESSURE ANGLE 30°
_/@ \ , ( s | PILOT NO. OF TEETH 13 PITCH _16/32
4 D © © ©Q O O O o PITCH DIA 8125 FORMDIA. _ .866
I ' = [e) (REF) MIN.
N \ MAJOR DIAMETER MAX. 886
}@( M5 METRIC PORT VN EFF. | 092
XT. . . .
CONFORMS TO ISO 6149 CIRSHAR SPACE
(BEFORE HEAT EXCHANGER) MAX. ACT. 1010
TIGHTENING TORQUE 20 + 2 Nm MEASURMENT BETWEEN MAX. .6487
1080  DIA. PINS WITH
) NONE TOFLAT ——@p—| MIN. | 6536

SPLINE DATA IN INCHES

INCH
1/2-13 UNC .81 DEEP
. 2HOLES 180° APART |
NOTE: ADAPTER MAY

BE ROTATED EVERY 45°
FROM THE POSITION SHOWN.—

DETAIL F
SCALE 2:5

| 837.7 \ =t 600.5 —
- 948.5 \ gy 653.0 =
- 1001.0 M —
SECONDARY CLUTCH (FIRST) SECONDARY CLUTCH (FIRST)
PRESSURE PORT PRESSURE PORT BREATHER
CONFORMS TO ISO 6149
TIGHTENING TORQUE 20 + 2 Nm TIGHTENING TORQUE 16 + 1.5 Nm EESQ%ESE .F.’A'?,.'MARY CLUTCH
MAIN PRESSURE PORT 2 1
M14x1.5 METRIC PORT
CONFORMS TO I1SO 6149
TIGHTENING TORQUE 20 + 2 Nm ENGAGES SECONDARY CLUTCH
OIL IN FROM HEAT EXCHANGER SEE NOTE "A
SAE 37° STR THD FLARED FITTING 206 — ]| |w——
1 7/8-12 UN-2B THD (SAE J514) TEMPERATURE AND
LUBE PRESSURE PORT
. M27x2.0 METRIC PORT
SEE NOTE "B CONFORMS TO ISO 6149
TIGHTENING TORQUE 75 + 7 Nm
OIL FILTER
24 mm CLEARANCE REQUIRED
F |] VAl OlL GAUGE TO REMOVE FILTER CANISTER.
a1 - @/ . TIGHTEN FILTER AN ADDITIONAL 17.0
i d 1/2 OF TURN AFTER FILTER A I
© GASKET MAKES CONTACT
u OUTPUT SPEED m m
@$i SENSOR BRACKET CENTER OF
TARGET WHEEL: 80 TEETH _. - GRAVITY
- )@ |
y, 7 TRAILING PUMP PRESSURE It i
~—> AND TEMPERATURE PORT N -
i \ 1/4-18 NPTF TAP O O O O INSPECTION COVER
| — TIGHTENING TORQUE 34 +4 Nm [ /
0 O \ ( I
O \o E | d i
g R.H. ENGINE ROTATION
CENTER OF O S ; | DRIVEN THROUGH PRIMARY © y ]
\ N B 7 18X »30.5 THRU ——
O — |~ EQUALLY SPACED | O O O H i
Q v ] S © O 0 ﬂ
~ N A H [
- O ﬂa @)
INPUT SHAFT ¢ ~ S e P ©»400.00 REF. H.C. I O O B
o / — < © |
@) > TRAILING PUMP OIL STRAINE ] i QO O O
| ~ © 112 mm CLEARANCE REQUIRE I
F A\ O / TO REMOVE OIL STRAINER B —— : | @) O
— ° |
iy, 7

fum |

y |

(A1)

)
i

Q
o
I

;
O LTS
\

] :

2 70O

©»465.0
$244.925+0.025
PILOT

AR S
(1
i

H
H
H
H
H
]
0
N SN R e e
o

il
[l on A5
i

I =]

618.8

Q\ J A%llo lllo ol o

| i L ] N E i L i
| & I S O O 72N = =il
i N )) ; E
|| i O O L O LA OIL STRAINER || Q s 4 ] e O L O O L O | N |
116 26 mm CLEARANCE REQUIRED O O I
| = TO REMOVE TUBE TO ACCESS $60.0 THRU O O
i OIL STRAINER .
HOLES TO BE USED FOR LIFTING @ O O OUTPUT SHAFT &
MARINE TRANSMISSION ONLY. ~ GREASE FITTING —
EQUALIZE LOAD BETWEEN LIFTING m L i Y L
POINTS TO LIFT MARINE TRANSMISSION.
et 378.5 =
@ R.H. ENGINE ROTATION
OIL DRAIN DRIVEN THROUGH SECONDARY »60.0 THRU - 815.10 -
- 1098.1 - PRIMARY CLUTCH (FIRST) —~—— 266.2 M33:2 0 METRIC PORT HOLES TO BE USED FOR LIFTING
PRESSURE PORT CONFORMS TO ISO 6149 MARINE TRANSMISSION ONLY.
M14x1.5 METRIC PORT TIGHTENING TORGUE 88+8Nm EQUALIZE LOAD BETWEEN LIFTING
CONFORMS TO ISO 6149 27 CLEARANGE REQUIRED POINTS TO LIFT MARINE TRANSMISSION.
TIGHTENING TORQUE 20 + 2 Nm TO REMOVE PLUG
OIL DRAIN
FLANGE SIZE 51 PER
190 8162 (€D 61) & EchiE 7555 G
S ’ EQUIPMENT SHOWN: REV CHANGE NO. DATE
TEMPERATURE AND - FREE STANDING HUB 1023810D S _—
- GP VALVE WITH EC050 MODULE FIRST USE ASSEMBLY: 1023611 2158.43 : :
LUBE PRESSURE PORT _ TRAILING PUMP FIRST USE MODEL: MGX-61500SC-HR| LAY L mroanie 02/17/2010
M27x2.0 METRIC PORT -LIVE PTO 1017177T SIMILAR TO: ol ont| NP — HEAT TREAT: SCALE1: 5 RACINE, WI 53403 - USA
CONFORMS TO ISO 6149 - 1016428AZ MOUNTING BRACKETS UNLESS OTHERWISE SPECIFIED DRAWN BY: :
TIGHTENING TORQUE 75 + 7 Nm METRIC MACHINED DINENSIONS MDL 10252608
T R T T ST N e Hes”
TWIN DISC, INCORPORATED A N A T R e ! INSTALLATION APPROVED BY: [DWG SHEET REV:
GRANTEDTO THE U8, GOVERNMENT GR OTHERS BY CONTRACT. PER ASME Y14.5M 1994 MGX-61500SC-HR, MGX-62000SC-HR ALC size: - AQ 10F1| C




	Sheet1
	Drawing View13
	Drawing View14
	Drawing View15
	Drawing View16
	Section View A-A
	Detail View F (2 : 5)


